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Proveď rozbor a zápis konstrukce trojúhelníku a uveď, podle které věty jej lze sestrojit, je-li dáno: 
 
 

1.  ABC:  a = 6 cm   2.  ABC: c = 7 cm   3.  ABC: c = 9 cm 
  b = 5 cm     a = 6 cm     α = 45˚ 
  c = 8 cm     β = 50˚      β = 60˚ 
 

Řešení: 
 
Rozbor:      Rozbor:      Rozbor: 
 
 
 
 
 
 
 
 
 

 
 
 

Zápis konstrukce:    Zápis konstrukce:    Zápis konstrukce: 
 
 
1. AB; |AB| = 8 cm    1. AB; |AB| = 7 cm    1. AB; |AB| = 9 cm 
 

2. k; k ( A; r = 5 cm )    2. k; k ( B; r = 6 cm )    2.  ABX; |ABX | =60˚ 

 
 

3. l; l ( B; r = 6 cm )    3.  ABX; | ABX | = 50˚   3.  BAY; | BAY | = 
45˚ 
 

4. C; C  k  l      4. C; C  k  BX    4. C; C  BX  BY 
 

5.  ABC     5.  ABC     5.  ABC  
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